Ex/Phil/PG/1.1/2018
MASTER OF ARTS EXAMINATION, 2018

(1st Year, 1st Semester)
PHILOSOPHY
[Logic (Indian)]
Full Marks : 30 Time : Two Hours

The figures in the margin indicate full marks.
Use a separate Answer-Script for each Group.
Group-A/ @Si%t -=

I. What, according to Dharmakirti, are the characteristics of

a valid mark (linga)? “sapakse eva sattvam niscitam”

What would have been the possible outcome, if the
expression ‘eva’ were not mentioned in this instruction or

placed differently ? 5+5=10
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2. Following DharmakirtT state the classification of. lirga ?
Explain with illustration any three types of anupalabdhi
linga? . 5+5=10
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Answer withi_n 200 words.
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3. Bring out the s_‘igniﬁc';ance_ of the term ‘anumana’ after

Dharmottara. Why is no definition of gnymana given in the
Nyayabindu ? . 3+2=5
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4. What are the senses in which the term ‘anumeya’ is used
| by the author of Nyayabindu ? 5
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5. What is paksadharmata jnana? What does
vyapyatavacchedaka - prakaraka paksadharmata
jAiana® mean ? On what grounds does Viswanath refute
the MTmErhsaka. claiin that.... vyapyatavacchedaka
prakaraka paksadharmata jnana is sufficient to give
rise to anumiti ? 2+2+6=10
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6. (a) Make clear the meaning of following definition of Vyapti :
sadhyavadanyasminnasambandhah vyaptih .

(b) Show how this definition suffers from under-coverage if

this rule is violated :
Yena sambandhena sadhyam tenaiva sambandhena
sadhyavan bodhyam . 4+6=10
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Answer within 200 words.
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7. Paramar$a— janyam hetvavisayakam yaj
Jjranam tadevanumitih
Point out the problem of this definition of anumiti 7 What
correction is suggested in Siddhantamuktavali to solve ihis
problem ? 2+3=5
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8. Define paramarsa after Visvanatha. What are its two
forms ? 3+2=5
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